THE VILLAGE CH 10 CIRCLES
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Multiple Choice Questions | ) (1 mark each)

1. In the given [ligure, PQ is a tangent at point R of acircle with centre O and
ZQRB =30° then £LPRA is equal to ™ '

{a) 30° ' {b) 90° (c) 120° (d) 60°
2. In the following ligure, if PA=8 cm, PD =4 cmand CD = 3 cm, then ABis

(a)-j cm (b) 3.5¢cm (c) 4¢m (d) 4.5 cim

3. IftangentsQR, PR, PQ are drawn respectively at A, B, C to the circle circumscribing
an acute angled AABC, so as to form another APQR, then the ZRPQ is equal to
(a) ZBAC (b)180° - #BAC
© 12(1 80° — LBAC) (d)180° - 2£BAC

4. In the given figure, quadrilateral ABCD is circumscribed touching the circle at
P,Q,Rand S.If AP =6 cm, BP =5cm, CQ =3 cm and DR =4 cm, then perimeter of
quadrilateral ABCD is
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(a) 18 cm {b) 27 cm
{c) 36 ecm (d) 22 cm
Short Answer Type (I) Questions ' (2 marks each)

S. The length of common chord of two intersecting circles is 30 cm. If the diameters of

these two circles are 50 cm and 34 cm, then calculate the distance between their
centres,
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In the .given figure, PQ" an¥% QR are tangents to the circle centre O, at P and R,
respectively. Find the valye of x. -

Two cirlees of radii 5 cm and 3 cm are concentric. Calculate the length of a chord
of the circle which touches the inner circle.

A p_oint Ais 13 cm from the centre of the circle. The length of the tangent drawn
from A to the circle is 12 cm. Find the radius of the circle. )

In given figure O is centre of the circumcircle of AABC. Tangents at A and B
intersects P. Given ZAPB =80° and ZAQC =140°, calculate the value of ZCAB.

Inthe given figure, PAis a tangent to the circle with center 0. If BC =3cm, AC =4cm
and AACB ~ APAQ, then find 04 and %
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In the given figure, two tangents TP and 7Q are drawn to a circle with centre O from
an external point 7. Find the value of ZOPQ.

. Inthe given figure. PA and PB are tangent to be drawn from an external point P. CD

is a third tangent touching the circle atQ. If PB =10 cm, and CQ =2 cm, then find the
length of PC.




Short Answer Type (II) Questions (3 marks each)

13. Prove that the angle between two tangents drawn from an external point to a circle
is supplementary to the angle subtended by the line segment joining the points of
contact at the centre.

14. In the given figure, AB is the diameter of a circle with centre O and QC is
a tangent to the circle at C. If ZCAB = 30°, then find ZCQA and ZCBA.
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15. Two tangents PA and PB are drawn to the circle with centre O, such that
ZAPB = 120°. Prove that OP = 2AP.

Long Answer Type Questions ) (5 marks each)

16. Prove that the intercept of a tangent between two parallel tangents to a circle
subtends a right angle at the centre,

17. Acircle is inscribed in a ABC having sides 8 cm, 10 cm and 12 cm a shown in figure
Find AD, BE and CF,
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Answers
1. (d) 2. (d) 3. (d) 4, (c) 5. 28¢cm -
6. 45° 7. 8cm 8. 5¢cm 9. LCAB=60° 10. QA= é.5 cm and 2—:: = ;

11, 30 12. PC=8cm 14. ZCQA=30°and ZCBA=60° 17. AD=7,BE =5andCF =3




